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QUESTION 1

Which two statements are correct for a loop node in a workflow? (Choose two) 

A. Nodes inside a loop can transition to activities outside the loop provide process.goto("Activity_ID") is used on the
transition. 

B. To retrieve an instance of an activity in a loop, the process.getActivity method is passed two parameters. 

C. The loop node does not specify the results of the nodes in the loop. 

D. loopcount is a local variable available only in the loop node. 

E. Index of activities in a loop starts with zero. 

Correct Answer: BC 

Reference: http://www01.ibm.com/support/knowledgecenter/SSRMWJ_6.0.0.2/com.ibm.isim.doc_6.0.0.2/planning/cpt/
cpt_ic_wkflo_node_loop.htm 

 

QUESTION 2

Which DB2 command provides information about the execution state of the database? 

A. Get database manager configuration 

B. Get database configuration 

C. Get monitor switches 

D. Get snapshot 

Correct Answer: C 

 

QUESTION 3

Which of the following Operating Systems supports TDI Configuration Editor? 

A. Solaris Opteron 

B. Solaris SPARC 

C. HP-UX Integrity 

D. Linux 390 

Correct Answer: C 

 

QUESTION 4
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Which statement lists all the IBM Security Identity Manager (ISIM) components that can be tuned to provide better
performance? 

A. HTTP server. Websphere Application server, Directory server, Database server, and adapters. 

B. HTTS server Websphere Application server, and Directory server. 

C. HTTP server and Websphere Application server. 

D. Directory server and Database server. 

Correct Answer: D 

 

QUESTION 5

Which TWO of the following functional areas of the architecture would be described in the applications layer of a
systems architecture? 

A. Workflow management 

B. Policy management 

C. Organizational tree 

D. Email notification 

E. Forms design 

Correct Answer: BC 
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